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ASSISTANTACCOUNTS OFFICER (CIVIL) EXAMINATION

NOVEMBER, 2013

PRECIS AND DRAFT

Maximum Marks : 100

Note: 1. While evaluating the question on precis and drafting the candidates

would be evaluated for their understanding and ability to express the
same in short sentences using simple words. He would not be expected
to reproduce the passage selectively. i

2. This question paper contains 7 questions and 4 pages.

e

. Allthe questions are compulsory.

Write a précis of the following passage and give a suitable title:
(25 marks)

In developing countries child labour, in one form or other, isa
serious problem. Many children are working in the worst forms of
labour like bondage, semi-slavery, prostitution and so on. According
to International Labour Organisation publication *Child Labour and
Targeting’ (1996), the number of working children in the age group of
5-14 yearsinall developing countries was 120 million but ILO later
estimated in 2000 that there were about 180 million child labourers in
the world and if secondary activities are included, the number might
reach to 250 million. Again the number of child labourers is highest in
South Asia and therein Indiahas the highest number of about 20 million.
However, if we add the number of marginal child labourers to the
number of main child workers, it would be around 25 million. Though
poverty is the cause of the child labour, it is not the only cause. For
instance, food insecurity, malnutrition, adult illiteracy, big size of the
family, natural calamities, under employment in agriculture, lack of
awareness, bad habits of elders etc are also the causes of child labour,
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especially in developing countries like India. Usually the prevalence

of child labour is high in those regions where the problems of poverty,
hunger, illiteracy, malnutrition and low adult wages are prevalent.

The concept of child labour is hi ghly complex and contentious.
This aspect relates to age, place of employment, payment, exploitation,
deprivation of childhood and denial of full development of the child. It
is really surprising that our national law, Child Labour (Prohibition
and Regulation) Act 1986 does not define the term ‘child labour’ at
all. The main question is concerned with age. Hence this Law defines
“child’ as a young person below fourteen years of age. But even the
term ‘child’ has been defined differently in different Indian Iaws. For
instance, in Indian Penal Code 1 860, an enactment of Colonial
Government, Section 82 defines ‘child’ as someone below seven years,
that is, any deviant behaviour or unexpected/unusual action of a child
below seven years is not considered a crime. Our Constitution (Article
45, 39, 24) itself defines a child as someone below fourteen years of
age. The second issue relates to the place of employment. That is,
whether a child employed in the family works may be considered a
child labour or an outside employment is a necessary condition for
being a child labour. The third aspect is paid versus unpaid work of
the child. That is, whether for being child labour, one is to be paid or
even unpaid work of a child would come under the definition of child
labour. Shanta Sinha and her M.V, F oundation, Rangareddy, (Andhra
Pradesh) engaged in the eradication of child labour since 1992, take

the most comprehensive definition encompassing denial of child’s full
development and rightly propound five postulates about child labour
which are as follows:-

(@) Every child not going to school is a child labour.

(b) Whether child gets wages or not, works at his family or under
others, works on daily basis or piece rate, he works as a child
labourer.

(c) To eradicate child labour from India, the only way is to remove
child labour system in rural areas.

(d) Every work is harmful to child because it affects his development.
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(e) Different logics like family’s difficulties, poverty, child“s_eaxmng as
additional income to family, family’s disinterestedness in send}ng
the child to school, school being boring to childrer} and educa}lqn
being unhelpful in providing employment are against the holistic
development of the child.

It is need of the hour that we take some immediate steps to
eradicate the child labour from our country and‘give our children
opportunities to grow in a healthy environ_ment with bettf:r access to
quality health and education. To ensure T.hJ.S, we need to first remove
the loopholes in various international and national laws. Our goa.l should
be the eradication of child labour, hence, any law Fhat prov1d§s for
merely regulation is not acceptable beca‘use child }abour 1s not
regulatable at all considering the vast area, huge popula'non, loopholes
in law, dishonesty of employers and prevailing corruption among law
enforcing authorities. The child labour is to be seen in the broadest
sense as any kind of deprivation or denial of full development of the
child must be construed as child labour, hence to pe removed. Merely
legislation, how much progressive it may be, is not sufficient for
eradication of child labour. Actually along with full and regplar
enforcement of labour laws, it is urgently required that labour 0fﬁc1qls,
prosecution and judicial officials should be sensitized towards child

labourers’ woes. A genuine mass awareness dxl“i\_/e should t.>e launchgd
by the proactive voluntary organizations and citizens to bring all child
labourers to schools, public or private.

Answer the following questions on the basis of the passage above.
The Answer should be approximately in 50 to 75 words each.
(5x3=15 marks)

(a) What are the main causes of child labour in India? e

(b) What are the inconsistencies with the definition of the term ‘child
in India? ‘

(¢) What steps could be taken to eradicate child labour from our
country?

aae-1




4

3. DraftaD.O. letter from the Secretary, Department of Labour and
Employment to the Secretary, Department of Health and Family
Welfare to consider the health concerns of child labourers in India
while devising health care policies. ' (20 marks)

4. “Have we been able to implement information technology strategies

in the field of accounts safely to ensure that the human expertise in
accounts is retained?” Please comment in approximately 150 words.

(25 marks)
5. Complete the following sentences with appropriate prepositions.
(5 marks)
(i) The flags waved ...oooeeneennes our heads.
(i) The cat SPrang ... the table.
(iii) The dogjumped .....coccouveve: the pond.
(iv) The ball rolled ....coereveven... the table.
(v) The workers ) § A p— the factory.
6. Change the following sentences into indirect speech.
(5 marks)

(i) The teacher said, “Hush! Listen to me.”

(i) The girl said to the old man, “Could I use your telephone for a
minute.”

(iii) The mother said, “My child, fish cannot Jive without water.”

(iv) You said tome, 1 have never told a lie in my life.”

(v) Theleader said to his followers, “Two wrong statements do not

make one right one.”
7. Use appropriate form of verb. (5 marks)
() DOnot..ccceeueerenenee to learn your lessons. (Fail)
(i) You cannot ... grapes from thistles. (Gather)
(i) Have Ireally .....cooooeonene this mistake? (Do)
(V) He .ccovvercienenns me 200 rupees yesterday. (Give)
(v) Boysgenerally ......ccocoeeens themselves on a holiday. (Enjoy)
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